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QUESTION 1

Some non-DBA users in your database have been granted ANY TABLE system privileges and they are able to access
data dictionary base tables. You decide to restrict their access to data dictionary objects. Which method would you
adopt to achieve this objective?

A. Revoke the RESOURCE role from the users.

B. Set the value of the OS_ROLES parameter to TRUE.

C. Use Database Resource Manager to restrict user access to objects.

D. Grant ANY TABLE system privileges again without ADMIN OPTION.

E. Set the value of the O7_DICTIONARY_ACCESSIBILITY parameter to FALSE.

Correct Answer: E

QUESTION 2

You created a profile APP_USER and assigned it to the users. After a month, you decide to drop the profile. Some user
sessions are currently connected to the database instance and are using the APP_USER profile.

This command is used to drop the profile:

SQL> DROP PROFILE app_user,

Which statement describes the result?

A. The command produces an error.

B. The profile is dropped and current user sessions use the DEFAULT profile immediately.

C. The profile is dropped and only the subsequent user sessions use the DEFAULT profile.

D. The profile is dropped, the sessions are terminated, and the subsequent user sessions use the DEFAULT profile.

Correct Answer: A

QUESTION 3

These are points that describe the contents of different memory components:

1: Descriptive information or metadata about schema objects that are queried by using SQL statements
2: The runtime area for data manipulation language (DML) or data definition language (DDL) statements

3: Results of SQL queries and PL/SQL functions 4: Executable forms of SQL cursors, PL/SQL programs, and Java
classes

5:
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The information necessary to reconstruct changes made to the database by a transaction Which of these will be stored
in the Shared Pool if the necessary configurations are done?

A

1and?2

2and5

1,3,and 4
D.

3,4and 5
E.

1,23 and 4

Correct Answer: C

QUESTION 4

The database instance has the following parameter setting: OS_AUTHENT_PREFIX = OPS$ OS_ROLES = FALSE
REMOTE_OS_AUTHENT = FALSE REMOTE_OS_ROLES = FALSE TIMED_OS_STATISTICS =0 You have a local
operating system user SKD. You create a database user OPS$SKD, and then assign

external authentication. The user OPS$SKD has the CREATE SESSION privilege. What would you achieve by the
above process?

A. The database user OPS$SKD will be able to administer the database.
B. The authentication detail for the database user OPS$SKD is recorded in the password file.

C. The local operating system user SKD will be able to access the database instance without specifying the username
and password.

D. The database user OPS$SKD has to login with the password of the local operating system user SKD to access the
database instance.

Correct Answer: C

QUESTION 5
Which two are true about the Archive (ARCn) processes? (Choose two.)
A. They are enabled only when the database is in ARCHIVELOG mode

B. They create archivelogs after every log switch
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C. They are used during instance recovery

D. They automatically delete obsolete archive logs to make space for new archive logs
E. They archive redo directly from the redo log buffer

Correct Answer: AD

170-052 Study Guide 170-052 Exam Questions 170-052 Braindumps

170-052 Study Guide | 1Z20-052 Exam Questions | 120-052 Braindumps 4/4


https://www.passapply.com/1z0-052.html
https://www.passapply.com/1z0-052.html
https://www.passapply.com/1z0-052.html
http://www.tcpdf.org
https://www.passapply.com/1z0-052.html
https://www.passapply.com/1z0-052.html
https://www.passapply.com/1z0-052.html

